
In some plants, a new plant grows from the different parts of their parent plant like roots, stems 

or leaves. This is known as vegetative reproduction or propagation. Potato is an underground 

stem. It has buds or eyes that give rise to new plant. 
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Q1. ________ is the part of the lever that does not move. (Choose the correct option) 

(i) effort  (ii) load  (iii) fulcrum  (iv) none of these 

 

Q2. The green colour substance inside the leaves are called photosynthesis. (True / False) 

 

Q3. Leaves have tiny pores called ___________. (Fill in the blank) 

 

Q4. Define climbers. 

 

Q5. Give reason: ‘It easy to pull a nail out of piece of a wood as compared to a screw?’ 

 

Q6. Identify and write about the type of root in the given picture in detail. 
 

 

Q7. Assertion: Carrots and radishes are the roots that give rise to new plants. 

Reasoning: They grow from the parts of the parent plant. 

A 

Both A and R are true and R is the correct explanation of the assertion. 

B 

Both A and R are true and R is not the correct explanation of the assertion. 

C 

A is true but R is false. 

D 

A is false but R is true. 
 

Q8. Read the following and answer the questions. 

 

 

 

 

1. Is potato an underground stem. (True / False) 

2. Define vegetative reproduction. 

 

Q9. What is an inclined plane? How does it make work easier? 
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A Wedge is a triangular simple machine having two back to back inclined planes. A Wedge can be used 

to separate two objects or portions of an object, lift up an object, or hold an object in place. Wedges, like 

other simple machines, are very useful. Knife, scissors and axe are some wedges which are used in 

everyday life for separating things. 
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Q1. ________ and _______ are the male part of the flower. (Choose the correct option) 

(i) Stigma, style  (ii) anther, filament   

(iii)    stigma, anther  (iv) none of these 

 

Q2. Pulleys are used in the sailboats for raising and lowering of a sail. (True / False) 

 

Q3. ________ helps the machine to lift the heavy car up using less effort. (Fill in the blank) 

 

Q4. Define gamete. 

 

Q5. Give reason: ‘Leaves are mostly green in colour.’ 

 

Q6. Identify and write about the type of root in the given picture in detail.  

 

Q7. Assertion: Leaves prepare food for the plant. 

Reasoning: Food is used by the plant to produce energy for its survival and growth. 

A 

Both A and R are true and R is the correct explanation of the assertion. 

B 

Both A and R are true and R is not the correct explanation of the assertion. 

C 

A is true but R is false. 

D 

A is false but R is true. 
 

Q8. Read the following and answer the questions. 

 

 

 

 

1. Write any one use of a wedge. 

2. _______ and _______ are the example of a wedge. 

Q9. Describe the parts of a flower with a diagram. 
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